ETKA

Year MG SG lllustration Restrictions UPD 13:24 ‘ 02.08.2015

1996 5 05 505-030 1074

et_bild.frm

EPIS 153



ETKA

Model Year MG SG lllustration Restrictions UPD 13:24 ‘ 02.08.2015
A8Q 1996 5 05 505-030 1074
Pos Part Number Description Remark oty Model
rear axle beam with attachment rear
parts
1 a 4D0 505 429 C wheel bearing housing left 1
(1) 4D0 505 431 A wheel bearing housing left rear 1
with:
wheel hub

for special armoured vehicle

(1) a 4D0 505 430 C wheel bearing housing right 1
(1) 4D0 505 432 A wheel bearing housing right rear 1
with:
wheel hub

for special armoured vehicle

2 4D0 505 171 K bonded rubber bush 4
see workshop manual

3 4D0 511 511 C axle guide left 1
(3) 4D0 511 511 B axle guide left rear 1
for special armoured vehicle
(3) 4D0 511 512 C axle guide right 1
(3) 4D0 511 512 B axle guide right rear 1
for special armoured vehicle
4 4D0 505 171 H mounting 4
5 4D0 511 523 C mounting 2

see workshop manual
(6) 4D0 505 323 K wishbone upper 2
(6) 4D0 505 323 H wishbone upper rear 2

for special armoured vehicle

6A 4D0 505 203 E bonded rubber bush 4
(6A) 4D0 505 203 M bonded rubber bush 4
for special armoured vehicle
6B 4D0 505 203 G bonded rubber bush 2
(6B) 4D0 505 203 L bonded rubber bush 2
for special armoured vehicle
7 N 102 716 01 hexagon bolt M12X1, 5X82

F >> 4D-S-001 931%* 4
(7) N 102 722 01 hexagon head bolt (combi) M12X1,5X95

F 4D-S-001 932>> 4
(7) N 103 047 02 hexagon bolt M12X1,50X90 2

for special armoured vehicle

er_text.frm Page: 001 EPIS 153



ETKA

Model Year MG SG lllustration Restrictions UPD 13:24 ‘ 02.08.2015
A8Q 1996 5 05 505-030 1074
Pos Part Number Description Remark oty Model
- N 104 209 01 washer 13X37X3 4
for special armoured vehicle
to use for: POS.:7
8 N 101 713 02 hexagon bolt M12X1,50X70 4
(8) N 906 244 01 hexagon bolt M14X1,50X75 2
for special armoured vehicle
8A N 103 262 01 hexagon head bolt (combi) M12X1, 5X80
F4D-S-000 001>>x* 2
(83a) N 906 244 01 hexagon bolt M14X1,50X75 2
for special armoured vehicle
- N 011 534 3 washer 15X28x%2, 5 4
for special armoured vehicle
to use for: POS. :8A
9 4D0 501 387 A eccentric bolt M12X1,5X85 2
(9) 4D0 501 387 C eccentric bolt 2
for special armoured vehicle
10 8A0 501 385 A eccentric washer 2
(10) 4D0 501 385 C eccentric washer 2
for special armoured vehicle
11 N 103 027 01 hex collared bolt M12X1,5X115 2
12 N 906 350 01 hexagon nut, self-locking M12X1,5 12
(12) N 102 686 02 hexagon nut M14X1,50 6
for special armoured vehicle
to use for: POS.:8,8A,12
13 N 011 531 10 washer 13 6
14 4D0 512 297 E spring support lower 2
(14) 4D0 512 297 H spring support lower 2
for special armoured vehicle
15 4D0 512 297 G spring support upper 2
16 4D0 511 115 AD coil spring
3 paint marks violet
F >> 4D-T-011 000* 2 |AAH,AEJ,ACK
(16) 4D0 511 115 AE coil spring rear
1 paint mark green
F 4D-T-011 001>> 4D-V-020 000 2 |ACK,AFB
(16) 4D0 511 115 AE coil spring
for models with
towing facility
1 paint mark green
F >> 4D-T-011 000* 2 AAH, AEJ, ACK
el_text.frm Page: 002 EPIS 153




ETKA

Year
1996

MG

SG lllustration Restrictions

05 505-030

UPD
1074

13:24 |

02.08.2015

Pos

Part Number

Description

Remark

oty

Model

(16)

(16)

(16)

(16)

(16)

(16)

(16)

(16)

(16)

4D0 511 115 AE

4D0

4D0

4D0

4D0

4D0

4D0

4D0

4D0

511

511

511

511

511

511

511

511

115

115

115

115

115

115

115

115

AG

AG

coil spring

for vehicles with electric
seat adjustment

1 paint mark

F >> 4D-T-011 000*

coil spring
2 paint marks
F >> 4D-V-020 000

coil spring

for models with

towing facility

2 paint marks

F 4D-T-011 001>> 4D-V-020 000

coil spring

for models with

towing facility

2 paint marks

F 4D-T-011 001>> 4D-V-020 000

coil spring

for models with

towing facility

3 paint marks

F >> 4D-v-020 000

coil spring

for vehicles with electric
seat adjustment

3 paint marks

F >> 4D-v-020 000

coil spring

1 paint mark

3 paint marks

for vehicles with sports
suspension

F >> 4D-T-011 000*

coil spring

1 paint mark

1 paint mark

for vehicles with sports
suspension

F 4D-T-011 001>> 4D-V-020 000

coil spring

1 paint mark

1 paint mark

for models with

towing facility

F >> 4D-T-011 001%*

green

green

green

green

green

rear

green

white

violet

white
green

white
green

AAH,AEJ, ACK

ABZ, AEM, AGH,
AEW, AHC

ACK, AFB

ACK, AFB

ABZ, AEM, AGH,
AEW, AHC

ABZ, AEM, AGH,

AEW, AHC

AAH,AEJ, ACK

ACK, AFB

sports
suspension:
AAH, AEJ, ACK

et_text.frm

Page: 003

EPIS 153



ETKA

Model Year MG SG Illustration Restrictions UPD 13:24 ‘ 02.08.2015
A8Q 1996 5 05 505-030 1074
Pos Part Number Description Remark oty Model
(16) 4D0 511 115 aM coil spring
1 paint mark white
1 paint mark green
for vehicles with electric
seat adjustment
F >> 4D-T-011 000* 2 sports
suspension:
AAH, AEJ, ACK
(16) 4D0 511 115 AN coil spring
1 paint mark white
2 paint marks green
for vehicles with sports
suspension
F >> 4D-v-020 000 2 ABZ, AEM, AGH,
AEW, AHC, AKH
(16) 4D0 511 115 AN coil spring
1 paint mark white
2 paint marks green
for models with
towing facility
4D-T-011 001>> 4D-V-020 000 2 sports
suspension:
ACK, AFB
(16) 4D0 511 115 AN coil spring
1 paint mark white
2 paint marks green
for vehicles with electric
seat adjustment
F 4D-T-011 001>> 4D-V-020 000 2 sports
suspension:
ACK, AFB
(16) 4D0 511 115 AP coil spring
1 paint mark white
3 paint marks green
for models with
towing facility
F >> 4D-v-020 000 2 sports
suspension:
ABZ, AEM, AGH,
AEW, AHC, AKH
(16) 4D0 511 115 AP coil spring
1 paint mark white
3 paint marks green
for vehicles with electric
seat adjustment
F >> 4D-v-020 000 2 sports
suspension:
ABZ, AEM, AGH,
AEW, AHC, AKH
(16) 4D0 616 115 R coil spring
for vehicles with adaptive
suspension
3 paint marks orange
F >> 4D-T-011 000* 2 |AAH,AEJ,ACK
el_text.frm Page: 004 EPIS 153




ETKA

et_text.frm

Model Year MG SG lllustration Restrictions UPD 13:24 ‘ 02.08.2015
A8Q 1996 5 05 505-030 1074

Pos Part Number Description Remark oty Model
(16) 4D0 616 115 s coil spring

for vehicles with adaptive

suspension

1 paint mark silver

F 4D-T-011 001>> 4D-V-020 000 2 ACK, AFB
(16) 4D0 616 115 s coil spring

for vehicles with trailer mode

and adaptive suspension

1 paint mark silver

F >> 4D-T-011 000* 2 |AAH,AEJ,ACK
(16) 4D0 616 115 s coil spring

for vehicles with adaptive

suspension and electric

rear seat adjustment

1 paint mark silver

F >> 4D-T-011 000* 2 |AAH,AEJ,ACK
(16) 4D0 616 115 T coil spring

for vehicles with adaptive

suspension

2 paint marks silver

F >> 4D-V-020 000 2 |AGH,AEM, ABZ,

AEW

(16) 4D0 616 115 T coil spring

for vehicles with trailer mode

and adaptive suspension

2 paint marks silver

F 4D-T-011 001>> 4D-V-020 000 2 ACK, AFB
(16) 4D0 616 115 T coil spring

for vehicles with adaptive

suspension and electric

rear seat adjustment

2 paint marks silver

F 4D-T-011 001>> 4D-V-020 000 2 |ACK,AFB
(16) 4D0 616 115 AA coil spring

for vehicles with trailer mode

and adaptive suspension

3 paint marks silver

F >> 4D-V-020 000 2 |ABZ,AEM, AGH
(16) 4D0 616 115 AA coil spring

for vehicles with adaptive

suspension and electric

rear seat adjustment

3 paint marks silver

F >> 4D-V-020 000 2 |ABZ,AEM, AGH
(16) 4D0 616 115 AB coil spring rear 2

for special armoured vehicle
(16) 4D0 511 115 AB coil spring

1 paint mark violet

F 4D-W-000 001>> 2 PR-0YP

Page: 005 EPIS 153



ETKA

Year MG
1996 5

SG
05

Illustration
505-030

Restrictions

UPD
1074

13:24 |

02.08.2015

Pos

Part Number

Description

Remark

oty

Model

(16)

(16)

(16)

(16)

(16)

(16)

(16)

(16)

(16)

(16)

4D0 511 115 AC

4D0

4D0

4D0

4D0

4D0

4D0

4D0

4D0

4D0

511

511

511

511

511

511

511

511

511

115

115

115

115

115

115

115

115

115

AG

AJ

coil spring
2 paint marks
F 4D-W-000 001>>

coil spring
3 paint marks
F 4D-W-000 001>>

coil spring
1 paint mark
F 4D-W-000 001>>

coil spring
2 paint marks
F 4D-W-000 001>>

coil spring
3 paint marks
F 4D-W-000 001>>

coil spring

1 paint mark

1 paint mark

for vehicles with
suspension

F 4D-W-000 001>>

coil spring

1 paint mark

2 paint marks

for vehicles with
suspension

F 4D-W-000 001>>

coil spring

1 paint mark

3 paint marks

for vehicles with
suspension

F 4D-W-000 001>>

coil spring

1 paint mark

1 paint mark

for vehicles with
suspension

F 4D-W-000 001>>

coil spring

1 paint mark

2 paint marks

for vehicles with
suspension

F 4D-W-000 001>>

sports

sports

sports

sports

sports

violet

violet

green

green

green

white
violet

white
violet

white
violet

white
green

white
green

PR-0YQ

PR-0YR

PR-0YS

PR-0YT

PR-0YU

PR-0YP

PR-0YQ

PR-0YR

PR-0YS

PR-0YT

et_text.frm

Page: 006

EPIS 153




ETKA

Model Year MG SG lllustration Restrictions UPD 13:24 ‘ 02.08.2015

A8Q 1996 5 05 505-030 1074

Pos Part Number Description Remark oty Model

(16) 4D0 511 115 AP coil spring
1 paint mark white
3 paint marks green
for vehicles with sports
suspension

F 4D-W-000 001>> 2 |PR-0YU

(16) 4D0 616 115 P coil spring

for vehicles with adaptive
suspension

1 paint mark orange
F 4D-W-000 001>> 2 |PR-0YP

(16) 4D0 616 115 Q coil spring

for vehicles with trailer mode
and adaptive suspension

2 paint marks orange
F 4D-W-000 001>> 2 |PR-0YQ

(16) 4D0 616 115 R coil spring

for vehicles with adaptive
suspension

3 paint marks orange
F 4D-W-000 001>> 2 |PR-0YR

(16) 4D0 616 115 s coil spring

for vehicles with adaptive
suspension

1 paint mark silver
F 4D-W-000 001>> 2 PR-0YS

(16) 4D0 616 115 T coil spring

for vehicles with adaptive
suspension

2 paint marks silver
F 4D-W-000 001>> 2 PR-0YT

(16) 4D0 616 115 AA coil spring

for vehicles with adaptive
suspension

3 paint marks silver
F 4D-W-000 001>> 2 PR-0YU

(17) 4D0 513 031 K shock absorbers
F >> 4D-V-012 286 2 |ACK, AEW, ABZ,
ALG, AKJ, AKG,
AEM, AGH, AHC,
AKH, AFB, AKN

(17) 4D0 513 031 L shock absorbers

marked with: yellow
F 4D-V-012 287>> 2 |ACK,AEW,ABZ,
AHC, ALG, AKJ,
AKG, AKH, AEM,
AGH, AFB, AKN

(17) a 4D0 513 031 M shock absorbers rear
for vehicles with sports
suspension

F >> 4D-T-011 000%* 2 AAH, ACK

er_text.frm Page: 007 EPIS 153



ETKA

Model Year MG SG lllustration Restrictions UPD 13:24 ‘ 02.08.2015
A8Q 1996 5 05 505-030 1074
Pos Part Number Description Remark oty Model
(17) a 4D0 513 031 M shock absorbers 2 |ACK,ABZ,AGH,
for vehicles with sports AHC, AEM, AKH,
suspension AKJ, AKG
17Aa 4D0 616 031 G shock absorber (spring cyl.) left 1
for vehicles with adaptive
suspension
(17a) 4D0 616 031 E shock absorber (spring cyl.) left 1
for vehicles with adaptive
suspension

for special armoured vehicle

(17a) 4D0 616 032 G shock absorber (spring cyl.) right 1
for vehicles with adaptive
suspension

(17a) 4D0 616 032 E shock absorber (spring cyl.) right 1
for vehicles with adaptive
suspension

for special armoured vehicle

(17B) 4D0 616 203 pressure accumulator

for vehicles with adaptive

suspension

F 4D-S-003 601>>* 2
18 443 512 127 protective cap 2
19 443 512 137 B protective cap 2
20 4D0 512 131 G helper spring 2
21 4D0 512 115 B cup spacer lower 2
22 4D0 512 169 D shock absorber bearing upper 2
22A 4D0 616 333 shock absorber bearing upper 2

for vehicles with adaptive

suspension
23 N 901 838 02 hexagon collar nut M8 4

self-locking

24 8A0 513 279 A disc 2

25 N 021 198 4 hexagon nut, self-locking M10X1 2

26 4D0 407 625 E duoble ball bearing 82X37 2

(26) 441 407 625 B duoble ball bearing 84X43X49 2
for special armoured vehicle

- N 012 340 1 securing ring 85X3 2
for special armoured vehicle

27 4D0 407 615 F wheel hub 5/112 2

(27) 4D0 407 615 B wheel hub 5/112 2

for special armoured vehicle

et_text.frm Page: 008 EPIS 153



et_text.frm

ETKA
Model Year MG SG lllustration Restrictions UPD 13:24 ‘ 02.08.2015
A8Q 1996 5 05 505-030 1074
Pos Part Number Description Remark oty Model
28 4A0 407 643 A shouldered bolt M16X1, 5X77 2
(28) 441 407 643 C hex collared bolt M16X1,5 2
for special armoured vehicle
- G 294 421 A1l assembly lubricant 100ML 1
29 stub axle
not for this model
Page: 009 EPIS 153



